IDEAL INSTITUTE

AVERAGE
(3ga)

3

The average of the marks obtained in an exami-
nation by 8 students was 51 and by 9 other stu-
dents was 68. The average marks of all 17 stu-
dents was :

fordt oten o § faenfell g wra iRl @
e 51 € qen o9 9 faenfeRi = sieq i
68 B1 X 17 Terenfelai gru Wi Sishi w1 Sfrd
21

1) 59
(3) 60

(2) 59.5

(4) 60.5
(SSC CGL Prelim Exam. 04.07.1999 (First Sitting)
The average marks of 32 boys of section A of
class X is 60 whereas the average marks of 40
boys of section. B of class X is 33. The average
marks for both the sections combinedtogether
is

HEl X AN A 32 Teh! i SEa60
T Safh ®E X B UM B & 40 @S] &
31 T SIEd 33 T A ST %1 FHAE W
St 1 Ed BT

(1) 44 (2) 45
(4) 45%

(SSC Data Entry Operator Exam. 02.08.2009)

1
() 465

If average of 20 observations X,sX; X5, 1S Y.
then the average of

- 101, x, = 101, x, — 101,.....x

afrea feman erm?

(1) y-20 2) y-101

(3) 20y 4) 101y
(SSC CISF Constable (GD) Exam. 05.06.2011)

If the mean of 4 observations is 20, when a con-

stant ‘C’ is added to each observation, the be-
comes 22. The value of C is :

I =R Teyull 7 STEd 20 B SR ST ¥ TAE
¥ T R ‘¢ Wig g S, @ s oia
22 € Sl B AEIER C H1 HA fere 22
(1) 6 2 2
3) 2 4) 4

(SSC CHSL DEO & LDC Exam. 21.10.2012 (IInd Sitting)
Six tables and twelve chairs were bought for ¥
7,800. If the average price of a table is ¥750,
thenthe average price of a chair would be

T8 WS N aRE \BA F7,800 H @l €
I Teh Bl 1 @ T 750 o, A TH FHA H

fd 7o feme 2
(1), ¥250 (2)./F275
3) %150 @) ®175

(SSC Muilti-Tasking Staff Exam. 17.03.2013 Ist Sitting)
A man purchases milk for three consecutive
years. Inthe first year he purchases milk at the
rate of ¥ 7.50 per litre, in the second year, at the
rate of T8.00"per litre and in the third year, at
¥.8.50 per litre. If he purchases milk worth
T 4,080 each yera, the average price fo milk per
litre for the three years is

TF SR, AR | @ aeh 9o @l B
T oW H, g8 g T 7.50 U e H
TSl € oI g ¥ | ¥ 8.00 U ol den
e o F 8.50 Wi e Y W W Tl B
TR, IS 39 B a9 7 F4,080 1 39 @I
=, S oA ol § g R @] 1 SiEd 9o
i et e © 2
(1) ¥7.68 (2) T7.98
3) ¥7.54 4 T7.83

(SSC Delhi Police S.1. (S.1) Exam. 19.08.2012)
In a prep. School, the average weight of 30 girls
in a class among 50 students is 16 Kg and that

in a remaining students is 15.5 Kg. What is the
average weight of all the students in the class?

T W W THA H T HE | 50 B H © 30
ARl 1 3fEa oo 16 fRuL ® @R 9w
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10.

B H A9E 15.5 L 21 wen § weft o
1 iigd oo R 7
(1) 15.2kg. /o
(2) 15.8 kg /T
(3) 15.4 kg /T
(4) 15.6 kg /frm.

SSC Constable (GD) Exam. 12.05.2013 Ist Sitting)
The average salary of all staff of a school is
¥10,000. The average salary of 20 teaching staff
is ¥12,000 and that of non-teaching staff is
¥5000. the number of non-teaching staff will
be
T e H et S st S 10,000
{1 =78 20 TRl 1 A SkH 12,000 T SR
frereR ¥ S AR 1 STHd S F5000 B
AR, femen W S e st we o €2

1 7 2) 8
(3) 10 @ 12
(SSC Multi-Tasking staff Exam. 17.03.2013,

KolkatkRegion)
The average of marks obtained by 420 candi-
dates in a certain examination is 35. If the aver-
age marks obtainde by passed candidatesare 39
and those of the failed candidates are 15, what
is the number of candidates who passed the ex-
amination ?

fordt oden o 120 NN gRT U STl HT
AEd 35 21 S0 T g 9K SRl BT
affea 39 ® SR STRI0] Tl gR1 e, AT
1 3fEd 15 81 when H_sdol yenfEi e
e frat 82
(1) 100

(3) 150

(2) 120

4) 140
(SSC CGL Prelim Exam. 24.02.2002 (Second Sitting)
The average of 30 result is 20 and the average

of other 20 result is 30. What is the average of
all the result ?

30 9RomEl 1 3MEd 20 € 3 20 TROMH W
3AEd 30 21 |+t IRomE w1 sfEd = B2
(1) 24 (2) 48
(3) 25 4) 50

(SSC CGL Prelim Exam. 11.05.2003 (First Sitting)

11.

12.

13.

14.

The average of marks scored by the students of
a class is 68. The average of marks of the girls
in the class is 80 and that of boys is 60. What is
the percentage of boys in the class?

fordl e & forenfeii & wrdient 1 SEd 68 R
e T TSRl % WKl ol e 80 T T
% Wdehl 1 AT 60 ©1 Hem | fehe e
foreneft wree €2
(1) 40 %
(3) 65%

(2) 60%
4) 70%
(SSC CGL Prelim Exam. 13.11.2005 (Second Sitting)

The average of 20 numbers is 15 and the aver-
age of first five is 12. The average of the rest is

20 geme w1 e 15 § RS9 wem uiw
H1 12,81 TEIHR )\ Femet w1 fa fena
27

(1) 16
(3). 14

2) 15

(4) 13
(SSC Graduate Level Tier-I Exam. 19.05.2013)
The average salary of the workers in a work-
shop is¥8000. The average salary of 7 techni-
cians is ¥ 12000 and the average salary of the

rest is¥6000. The total number of workers in
the workshop.is

et srdemen o w9 9t SRt @1
ST g T8000 Bl TTH | 7 TR 1
AT Fa F12000 T 39 Affeni w1 fd
A 6000 21 TH HHETE § FE FH 9
gftrrl & el TE B
1) 20 @) 21
() 23 @) 22

(SSC CGL Prelim Exam. 11.05.2003 (Second Sitting)

The average monthly income (in¥) of certain
agricultural workers is S and that of other work-
ers is T. of other workers. Then. the average
monthly income (in¥) of all the workers is :

wO &Y il # iEa aiftes o (T W) S '

T T qA ST AR 1 SEq aifter o TRl

KTt St o1 G o gt 1 gen 11T

o, Tt Sl 1 Sted Wik o1 (F H) enft-
S+11T S+T

12 12

(D 2)
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11S+T 1 18. There are in all, 10 balls; some of them are red
3) T €)) 1S +T gnd the others white. The average cost of a}l balls
is ¥28. If the average cost of red balls is¥25
(SSC CGL Prelim Exam. 08.02.2004 (Second Sitting) and that of white balls is f30, the number of
15. The average monthly salary of the workers in a white balls is :
workshop is Rs. 8,500. If the average monthly sal- Fd 10 T H HH A T H T, 99 9%g T
ary of 7 technicians is Rs: 10,000 and average F| Tl e H7 e T F28 2| Az e
e S Y V15 w1 e 5 e
forelt SFRTEN AR A S S TS, j;f’imwﬁ’“mﬁﬁqﬁmw
5001 A% 7 Tt depeftent ferdmoii =t wferes Sl O 3 @ 5
I F10,000 T SR 3 it w1 wfaw iea 3) 6 @ 7
A 7,800 B, T HrERTen H HERE HfHeR H (SSC CHSLDEO & LDC Exam. 11.12.2011
ool T © (lind Sitting (Delhi Zone)
(1) 18 2) 20 19. The average monthly expenditure of family is
3) 22 4) 24 §2,2OO during first three months, 5\‘2,5‘50 dur-
ing next four months and ¥ 3,120 during last
(SSC CGL Prelim Exam. 13.11.2015 (Second Sitting) five months.of the year. If the total saving dur-
16. The average weight of five persons sitting in a ing the year was ¥ 1,260, what is the average
boat is 38 kg. The average weight of the boat monthly income?
and the persons sitting in the boat is 52kg. What Teh GRIR &1 o9 & Teel i HeH ! &1 siga
isthe weight of the boat? ’ aiftier @< ¥2,200, Tel IR 7EE A1 F2,550
T K 93 Y 5 SAKE Bl SEd AR 38 R sifem g T2 13,120 71 TEIER A
o 21 SH A F1 IR 3EH. A3 A SHR RIS W] Bl a9 T1.260 @ A, A
fHq 9R 52 frm B GgER SE M @i 9R Srggemfas. o faad 32
fopa 22 W T 1260 (2) T 1.280
(1) 228 kg /T (3) ¥2:805 (4 T2850
(2) 122 kg/fewm (SSC CL Tier-1 Exam. 11.11.2012. Ist sitting)
(3) 232kg/ T 20. A man's pension on retirement from service is
(4) 242 kg /TR equal to half the average salary during last 3
PCI Assistant Grade-111 EXam. 05.02.2012 (Paper=l) years of his service. His salary from 1-1- 1983
East Zofie (lInd Sitting) is ¥380 per month with increment of ¥ 40 due
17. The average of x numbérs is y? and theaverage onl-10-83,1-10-84and1-10-85,Ifhe

of y numbers is x2 So the average of all the num-
bers taken together is

X HEMSA 1 AEd y2 3Ry GEeret w1 Sl
X? Bl TIOR3 9t geme &1 we e
foRaa =2

1 3+Y3 2
My O
G ) e
X+y y Tyx
(SSC CHSLDEO & LDC Exam. 04.12.2011

(IInd Sitting (East Zone)

retireson 1 - 1 - 86, what pension does he draw
per month?

HAgfd | T STEH &l U=M, SHH! Hal &
sfa 3 o & IRA of|d dT & oo F
T T SHAT dH FT1 - 1-2003 T 380
TfME 7, 1-10-2003, 1-10-2004, 7 F1
-10-2005 &1 40 Ht g & WAl I I 1-
1 - 2006 1 Fartga g3 =, q@ 3§ fha
o firerdt 272
(1) ¥ 205

(3) T 225

2) F215
4) F230
(SSC CGL Tier-1 Exam. 21.04.2013 IInd Sitting)
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21.

22.

23.

24.

The average of 8 numbers is 27. If each of the 25. The average monthly expenditure of a family

numbers is multiplied by 8, find the average of
new set of numbers.

8 Hemsll @ SiEd 27 | 9% Yoie EE@
8 W o fohan ST A Emet & ¢ W=
I @ Ty
(1) 1128
(3) 316

(2) 938
4) 216
(SSC Constable (GD) Exam. 12.05.2013 Ist Sitting)

A man purchased 7 bags of rice at the rate of
¥ 800 each and 8 bags of rice at ¥ 1000 each
and 5 bags of rice at the rate of ¥ 1200 each.
What is the average cost of one bag of rice ?

T oAfdd 3 =A@ i 7 difEl 800 w9 gfq
I H R Y, TR IHR & A6 H g A
1000 ®IT Fid St 1 L AR T THR B
TEd hI 5 ARET 1200 TIC 9GS B R 9
| e T TR G H1 STEd AN TR
g2

(1) ¥ 1000
(3) ¥ 1120

(2) ¥980

4) ¥ 1050
(SSC CHSL DEO Exam_02.11.2014 (st Sitting)
If the arithmetic mean of 3a and 4b is greater
than 50, and a is twice b, then the smallest pos-
sible integer value of afis

IfE 32 3R 4b T FARAOAT T 50 § TR
B SR a, b B Bl aF AETH TG

Uik HM ¥ BAT 2
(1) 20 (2) 18
(3) 21 4) 19

(SSC CGL Tier-I1 Exam. 12.04.2015 TEN0:567. TL 9)
The average salary, per head,.of all the workers
of an institution is ¥ 60. The average salary of
12 officers is ¥ 400; the average salary, per head,
of therestis ¥ 56. The total number of workers
in the institution is
T e o geft e 1 gfa safe eiea
Iq T 60 21 12 AR *1 ofEd o9 T
400 %, 99 =1 ufd oAt i@ da T 56 2
Teon o ORI R el e Rt 22
(1) 1030 (2) 1035
(3) 1020 (4) 1032

(SSC CGL Tier-1 Exam. 26.10.2014)

26.

27.

28.

for the first four months is ¥2570, for the next
three months ¥ 2490 and for the last five months
T 3030. If the family saves ¥5320 during the
whole year, the average monthly income of the
family during the year is
T TRER 1 SiEd =4 9o =R 918 ¥ §2570
€, I o AR W ¥ 2490 ® SN sifqw i
e ® ¥ 3030 ¥ A fEr T ad § §5320
F T9d A T Al R a8 H IR # elEa
miesw s foRat 22
(1) 3000 (2) T 3185
(3) ¥ 3200 (4) T 3580

(SSC CGL Tier-1l Exam. 21.09.2014)

Adnan spends ¥11800 monthly on an average
for the first four months and ¥ 2000 monthly
for the next eight/months and saves ¥ 5600 a
year. His average monthly income is

Tsh, SSH Hor =R Hie H ofed ¥ 1800 1
TR T F 2SI ST e § F 2000
Hfg T F @3 o § T 5600 1 =
FR Al 1 ST G Wieh 3 femat 872
(1) 2000 N\ (2) T 2200
(3) /22400, _/ (4) T 2600

(SSC CGL Tier-Il Exam. 21.09.2014)
The average (arithmetci mean) of 3*° 3% and 3%

1S

330 390 SR 390 ST AU HIEA 1 B2
(1) 37437 4+3%

(2) 3%

() 37 +37+3%

(4) 3177
(SSC CGL Tier-11 Exam. 12.04.2015 TF No. 567 TL 9)

The average of 1, 3,5,7,9, 11, ... to 25 terms is
1,3,5,7,9, 11, ... 59 25 Hemet #1 eiga
e T2
(1) 125
(3) 625

(2) 25

4 50
(SSC Constable (GD) Exam. 04.10.2015 Ist Sitting)
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TYPE-II (1) 18 2) 22
The average of 9 numbers is 30. The average of (3) 25 4) 27
ﬁI‘St' 5 numbers %S 25 and that Ofﬂ})e last 3 num- (SSC CGL Prelim Exam. 08.02.2004 (First Sitting)
beris 35. What is the 6th number 5. Out of seven given numbers, the average of the

0 HEmsl w1 ST 30 T YUH 5 Gemsd o
3Ed 25 AR S| 3 w0 35 B A DSl WE
Bi?

(1) 20
(3) 40

2) 30

4) 50
(SSC CGL Exam. 27.02.2000 (Second Sitting)
The average of 30 numbers is 15. The average
of the first 18 number is 10 and that of the next
11 numbers is 20. The last number is 30 T
F1 A 15 B ST W YUH 18 HEAst @
A 10 qe STl 11 HE@met w1 i|a 20 €
3ifem ge git-
(1) 56
(3) 60

2) 52

4 50

(SSC Section Officer (Commercial Audit)
Exam. 30.09.2007 (Second Sitting)

The average of 15 number is 7. If the average of

the first 8 number be 6.5 and the avérge of last 8

numbers be 9.5, then the middle number is

15 Hemst 1 Siwd 7 71 A sl § wens
1 G 6.5 T qon Al 8 e w1 S
9.5 ¥ 9 w1 GEAIT-
(1) 20 (2) 21
(3) 23 4) 18

(SSC CGL Prelim Exam. 11.05.2003 (Second.Sitting)
The average of 8§ numberis 20. The avetageof

1
first two numbers is 15 ) and thatofthenext three
is
1 )
21 3 Ifthe sixth number be less than the seventh

and eight numbers by 4 and 7 respectively, then
the eighth number is :

NS TS w1 SiHd 20 71 wEel % HEmsd
1 3T

15%3ﬁ13411?ﬁ?ﬁ7[7ﬂ 21% 21 afe ol

T 9iqd] 9 4 kY 91 33l § 7 kY 8,
a3l e Bl

firstis also 4. If the average of all the seven num-
bers is 3 fourth number is

d ge 7 gemsti H 9 weelt 9R gemed &
AGd 4 & don eif =R gemsti o1 |
4 ?1 A ot 9 demsd % oid 3 e,
<eft G Brf-
1) 3
3) 7

2) 4
4 11
(SSC CGL Prelim Exam. 04.02.2007 (First Sitting)
In a certain year, the average monthly income of
aperson was ¥ 3.,400. For the first eight months
of the year, his average monthly income was
33,160 and for the last five months, It was
T4,120. His icomes in the eighth of the year
was
et e & T oaff, i diEd wifgEs e
3,400 #ftl 9! Y ), YIH S HE Hi
e 3,160 7o sAfad 99 |8 i
;{4,120% Y % S HE H UK A

(1) F.3.160 (2) ¥ 5,080
3y ¥ 15,5200 4) ¥ 5,520

(SSC CGL Perlim Exam. 27.07.2008 (Second Sitting)
The average of nine numbers is 50. The average

of thé first numbers is 54 and that of the last
three numbers is 52. Then the sixth number is

T gemstt # S| 50 71 Ueel qre wemst
® AEA 54 T IR oifaw W weme i
Temstt w1 $fEd 52 ¥ @ DS TE 2
(1) 30 (2) 34
(3) 24 4) 44

(SSC CGL Tier-1 Exam. 19.05.2013 Ist Sitting)
The average of 11 numbers is 63. If the average

of first six numbers is 60 and the last six number
is 65, then the 6th number is

11 gemsll %1 3iEd 63 Bl e weell %
Hemsli &1 Ed 60 © ifaq o8 el &
3d 65 B, @SS g B
(1) 57 (2) 60
(3) 62 4) 64

(SSC CGL Tier-I Exam. (2013)27.04.2014)
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9.

10.

11.

12.

In ateam of 10 persons, nine persons spent ¥ 40
each for their meal and the remaining one spent
T 9 more than the average expenditure of all the
10 persons. The total expenditure fot their meal
was

10 =Afeat &1 39 &, 1 Al T o1 o
W 9 40 TIC T AT IR 99w Al |
Tft 10 =fal & | @9 o 9 w9 stfs
T fRU| 3T ASH R FHA fohaT =9 gam?
(1) ¥510 (2) ¥ 310
(3) ¥410 4 T 610
(SSC CGL Tier-Il Exam. 2014 12.04.2015
(Kolkata Region) TF No. 789 TH 7)
The average weight of first 11 persons among
12 persons is 95 kg. The weight of 12th person
is 33 kg more than the average weight of all the
12 persons. The weight of the 12th person is
12 SAfFl 5 9 98 11 Afeaal ol ERE|
95 foh. . B 129 =l 1 oW 12 =t
% offmd o o 33fwm afew 7, @ 124
SfeRT ol oS fehal 272
(1) 128.75 kg / T
(2) 128kg/ T
(3) 131 kg /f&m.
(4) 97.45 kg / fermm.
(SSC CGL Tier-I1 Exafn. 12.04.2015"TF No. 567 TL9)
The average of six numbers is 3.95. The aver-
age of two of then1'1s 3.4, while the average of
the other two is3.85. The average of the remain-
ing two numbers is

IT FEms w1 AETN3.95 B STH &G
T 3.4 T TR T qHT 3T 3.35 BUE
q wEst w1 efiwa e 2
(1) 4.6 (2) 4.5
(3) 4.8 4 4.7

(SSC CGL Tier-Il Exam. 12.04.2015 TENo. 567 TL 9)
Out of four numbers the average of the first three

is 16 and that of last three is 15. If the last num-
ber is 20 then the numbe is

IR Hemel § ggelt i w1 ofEd 16 SR sifaw
A w1 SfEa 15 B AfE ®ewm 20 € d geat
& F 8?2
(1) 23
(3) 28

) 25

4 21
(SSC CGL Tier- Exam. 08.08.2015
(IInd Sitting) TF No. 4239378)

13. There are 100 students in 3sections A, B and C of

a class. The average marks of all the 3 sections
was 84. The average of B and C was 87.5 and the
average marks of A is 70. number of students in A
was

T H ® qF WA A, B 3R CH 100 B
21 A SeeEl % sfiEd 3w 84 81 B 3 C
AGd 87.5 X A® 3Gd 3% 70 91 AH BE
&1 g& fhat off?

(1) 30 ) 35
(3) 20 4) 25

(SSC CGL Tier-I Exam. 19.10.2014 TF No. 022 MH 3)
TYPE-III

The average of eight successive numbers is 6.5.
The average of the'smallest and the greatest num-
bersamong them will be:

S Hih TS w1 fHd 6.5 81 ST W
I DI A9 Had S ESASA H1 G e
(1) 4 (2) 6.5
(3) 7.5 @ 9

(SSC CHSL DEO& LDC Exam. 28.11.2010 (Ist Sitting)
a, b, ¢, d e, fgare consecutive even numbers .

J, k, I, m, n are consecutive odd numbers. The
average of'allthe numbers is

d b, énd e f g it w9 HE&d Bl kL m,
p i fowm et g1 39 |4t gemed @
Jga, fra grm?
1+d
(2) (TJ

a+n
(1) 3(7)

a+b+mn jtc+n+g

3) 4 @
(SSC CHSLDEO & LDC Exam. 04.12.2011
(IInd Sitting (North Zone)

The average of four consecutive even numbers
is 15. The 2nd highest number is

IR AN 9 GeAst 1 e 15 ¥l 959N,
STH T T F g S g e €2
1) 12 ) 18
() 14 @) 16

(SSC CHSL DEO & LDC Exam. 28.10.2012 (Ist Sitting)
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4. Ifthe average of 6 consecutive even numbersis 9. The average of nine consecutive numbers is n.
25, the difference between the largest and the If the next two numbers are also included the
smallest number is new average will
IqfE 6 it @9 Gemel &1 sf|a 25 ©, d 0 wfgF Temst F SEd n Ak =
399 T dEt q1 W9 Vel G H AN el G St e e S, @ T
feperr g2 siraa forar & sTEm?
(1 8 ) 10 (1) increase by 2 /2 &1 gfg grft
G) 12 4 14 (2) remain the same / F&1 &M
SSC Graduate Level Tier - I Exam. 29.09.2013 .
5. The average o(f 5 consecutive integers starting ) Tncrease by 1.5 /1.5 qf =
with 'm' is n. What is the average of 6 consecu- (4) increase by 1/ 1% fg i
tive integers starting with (m +2)? (SSC CHSL DEO & LDC Exam. 27.10.2013 Ind Sitting)
'm'¥Y XY BH 91 5 shiHs Tﬁaﬁ w7 3fFd n 10. Average of n number is a. The first number is
Bl TEIER, (m +2) ¥ Y BH o 6 Hidw increased by 2, second one is increased by 4, the
Uit 1 siea == B thirdone is increased by 8 and so on. The aver-
age of the new numbers is
D 22 o) w2 n TS F1 G a ¥ TEel Gem § 2 Sie
2 fean s ®,) 59l wem ¥ 4 Sie @ W e
(3) (n+3) (4) 21’12+9 ﬁWWﬁS@EﬁWW%aﬁTW
RN SEHT e L gem S| 21 T
(SSC Graduate Level Tier-1l Exam. 16:09.2012) d v
6. Whatis the average of the first six (Positive) odd FEIH 1 ST €2
numbers each of which is divisible by 77 A " —
S 94U B8 (¥ATHe) favm dene s et () a+ @)rat+2
fra & fo s 7 g fassa 812 - -
(1) 42 (2) A3 @) at " 4) a+
(3) 47 4 49
(SSC Multi€ Tasking StaffExam. 24.03.2013. Ist Sitting) (SSCCAL Tier-l Exam. 25'1(.)'2015° TF.N > 109.9685)
7. 1Ifa, b, c, d eare five consecutive odd numbers L. 1% average of five consef:utlve positive 1nj[e-
0dd their averag N gers is n. If the next two integers are also in-
a. b, ¢, d, e = HeR Tous qed &l Sqe cluded. the average of all these integers will
B Uie HHNTG TSR qUishi w1 fEa n @1 A
(1) 5@a+4) e q Uit off enfae e fRw W, @
abede Tft il 1 ST w4 F?
) 5 (1) increase by 1.5/ 1.5 9@ S@m
(3) 5(a+b+c+d+e) (2) increase by 1/ 19 S
4) a+4 (3) remain the same / a1 € &M
(SSC Graduate Level Tier-I Exam. 19.05.2013 & (4) increase by 2/2 aa- WT
8 Th fs;c Cf? - HierRe-Exam. (2013)27;)4.'2(114) (SSC CGL Tier-Il Exam. 25.10.2015. TF No. 1099685)
’ ¢ average ol the first nine Integral multipies 12. The average of 6 consecutive natural numbers

of 3 is

3% TEe Al WHES TOST wh old 2-
1 21 @) 12
3) 15 @) 18

(SSC CL Tier-I Exam. 19.05.2013 (Ist Sitting)

is K. If the next two natural numbers are also
included, how much more than k will the aver-
age of these 8 numbers be?
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so
6 MR Wehd Semet =1 ofwd k Bl A (1) 24 2) 72
T B Wiehd FE@AT AR I Y < =d, @ (3) 36 4) 108
gq‘ 8 g’-@-l‘aﬁ F1 aﬁgﬁ' Kﬁ m:n w\w m? (SSC CGL Prelim Exam. 24.02.2002 (IInd Sitting)
1) 13 @ 1 (SSC CGL Prelim Exam. 27.07.2008 (1Ind Sitting)
' 4.  Out of three numbers, the first is twice the sec-
() 2 4) 18 ond and is half of the third. If the average of the
(SSC CGOL Tier Re.Exam. 30.08.2015) three numbers is 56, then difference of first and
13. The average of all the numbers between 6 and third number is
50 which are divisible by 5 is i demst § ¥ weell dem el wen @
6 3R 50 & = 5 9 fawsa @t geme w1 T ¥ sin ded wEm # w3 AR A
e @ gemet #1 56 ®, A weell R e
(1) 27.5 (2) 30 Temel w1 SR Bm-
(SSC CAPFs. SI. CISF ASI & Delhi Police SI Exam. 22.06.2014) (3) 24 (4) 48
1 Th ffTY;I:ll? -V b is double of (SSC CGLPrelim Exam. 13.11.2005 (Second Sitting)
' © average of HTSLIICe NUMDBETS 1S QOUBIE OF 5 = 7y average weight of A, Band C is 45 kg. If the
the fourth number. If the average of all the four average weight of A and B and C is 40 kg and
numbers is .1 2 ﬁl.ld the 4th numbef. that of B and C be 43 kg then the weitht (in kg)
el i HEmed 1 siiEa =l @ & g SEBis
&1 e 37 Wl I Hewed S 12 F A 5 Bl C o st w45 R $1 e A s
=it e i i B w1 3fed a5 40 TRUTEN SR B 3R C &
M 16 o) 48 43 f&m =@ B &wbesa (T o) fwaw
7 BI?
18 (1).20 2) 26
(3) 20 @ @) 31 @) 17
. (SSC CGL Tier-Il Exam. 2014 12.04.2015
(SSC Graduate Level Tire - II Exam. 29.09.2013) (kolkata Region) TF No. 769 THT)
2. The average ageé of Ram and his two 'chllflren s Avefage income of 'A' and B is ¥ 200 and av-
17 years and'the average age of Ram's wife and erage income of 'C' and 'D' is T 250. The aver-
the same children is 16 years. [fthe age of Ram age income of A, B, C and D is ’
is 33 years, the age of'his wife is (in years): 7 .
) A R B 3fiHa @19 200 ®IC € 3R C T D1
T SR IHH q T=E BT ST AR ATy
S a1 250 ®IC Bl A, B, C, 8k D Wi
STeIfeh T 1 Tt SR SET SToEl ol ST g F
16 o9 21 4% TH 1 g 33 @ T, a6l SHH! 1 Tq%izls“ i %2‘7 125
T ey (I H) & (1) 310625 () ¥
a1 31 Q) 32 (3) ¥200 4) F225
(SSC Constable (GD) Exam. 04.10.2015. Ist Sitting)
3) 35 ) _ 30 N 7. Three Science classes A, B and C take a life Sci-
(SSC GL Tier-I Exam. 21.04.2013 [Ind Sitting) ence test. The average score of class A is 83.
3. Of'the three numbers, second is twice the first

and also thrice the third. If the average of the
three numbers is 44, the largest number is:

" et @ vwR € % qud den uech
e § g § R e § o @ A e
wemst 1 ied 44 7, @ 9 den 2-

The average score of class B is 76. The average
score of class C is 85. The average score of class
A and B is 79 and avearge score of class B and
Cis 81. The the average score of classes A, B
and Cis
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o1 -
o= 1 7 wamd A, B iR C Sheq-fomm &1 (1) 70 kg /fowm
wen <t €1 wEl A SEd 3% 83 T e (2) 72 kg /femm
B# 3 d 3T 76 T wal C 3id i 85 T (3) 75kg/ fmm
Fe AR BF 3id 3T 79 3R Hel B iR (4) 76 kg / fwm
C o 3i9a 3i® 81 %I el A, B R CH 3iga (SSC CGL Prelim Exam. 08.02.2004 (Second Sitting)
s foray &7 3. Theaverage of five numbers is 140. If one num-
(1) 81.5 ) 81 ber is excluded, the average of the remaining four
(3) 80.5 4) 80 numbers is 130. The excluded number is:
' , e e w1 SiEd 140 21 Al ST 9 TH
(SSC CGL Tier-Il Exam. 25.10.2015 TF No. 1099685) ) & < 39 = B S 130 2
The average marks of 50 students in a class is N & =TS, ]
72. The average marks of boys and girls in that ST 2 qEIER BT T HEA -9 82
subject are 70 and 75 respectively. The number (1) 135 (2) 134
of boys in the class is (3) 180 (4) 150
50 foenfeRll =1 w wem § owd F 72 2 (FCI Assistant Grade-1Il Exam. 05.02.2012
39 -%rq-q -l_ll e 3?\R Sl Sr"b aF (—:ﬁ W 3TH (Paper-I) East Zone (IInd Sitting)
. 70 &R S I . . 4.  While finding the average of 10 given numbers,
FHELT: 70 AR 75 T, A FeM W ASH! &1 G&AT ) .
a student, by mistake, wrote 64 in place of a num-
r=al ber 45 and got his correctaverage 50. The cor-
(1) 20 (2) 35 rectaverage of the given numbers is:
(3) 25 4) 30 T el g2 SemE 1 AEd 71 S F6 Th
SSC CHSL (10 +2) LDC. DEO & PA/SA Exam¢20.12:2015 .
( o (IstSitting)”l?II:nNo.9692918; farenefl 7 el @ WE G 46 F TH W 64
fera feran deon, 1o Gt siea 50 e fam
TYPE-V & g8 e # wel ol e
The average of seven numbersis:18. If one of the (1)448.2 (2) 483
number is 17 and if it isteplaced by 31, then the @) 49.1 4) 493
average becomes :
T s w1 S 18 R TR, - (SSC CHSL DEO & LDC Exam. 27.11.2010)
3 % ST 5. Astudent finds the average of ten 2-digit num-

Th He 7 B SISy 31§ sga o S,
fra fera &1 a2
(1) 21.5 2) 195
(3) 20 4 21

(SSC CHSL DEO & LDC Exam. 24.10.2012 (Iind Sitting)
There are 50 students in a c¢lass; One of them

weighing 50 kg goes away and a new student
joins, By their the average weight of the class

1
increases by 5 kg. The weight of the new stu-

dentis:

et e o 50 fermeff 81 50 fopmn wR aren
e Terenefl = S € Ul SEe e W T
Jon forneft e San @ TSE@ wen w1 stEd

w%maa;w%mﬁwﬁaﬂw%—

bers. While copying numbers, by mistake, he
writes one numbers with its digits interchanged.
As aresult his answer is 1.8 less than the correct

answer. Tthe digits of the num-
ber, in which he made mistake, is

w fomnef 59 2-siw Temst w1 S T
F 21 HEsl B TR FE H 98 Tor § TH
& ® IH WER T8l gU ARl A HEA
for@ ot 21 IR 3T ST el SW Y 1.
8 FH ol B form G #i fores § 39 TTerd]
1 off, ST Rl T IR BT-
(1) 2 2) 3
3) 4 “) 6

(SSC CHSL DEO & L.CD Exam. 28.11.2010 2(IInd Sitting)
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6.

A tabulator while calculating the average marks of
100 students of an examination, by mistake enters
68, instead of 86 and obtainede the average as 58;
the actual average marks of those students is

TH UREN ® 100 BH F SEd WAk BT
TOAT § ITRT GRONEER, TeAdt 9 86 i SFTE
68 afehd T @ 7 2R 58 1 ET W B
Al B TEIER S B & adfersh Wikl s
SArga fee €2
(1) 58.18

(3) 58.81

(2) 57.82

(4) 57.28
(SSC CHSLDEO & LDC Exam. 04.12.2011

(Ist Sitting (East Zone)
The mean of 100 items was 46. Later on it was
discovered that an item was misread as 61 and
another item 43 was misread as 34. It was also
found that the number of items were 90 and not

100. Then what is the correct mean?
100 =S 1 SiEd 46 B 9" | TE Tl =l
o5 SEH 16 =1 Tord! ¥ 61 UE foran o iR 43
1 34 9 foran ol g ot war =en fh s ot
@& 100 e, dfes A 90 oft| deI9R, Fel
Ared e em?
(1) 50
(3) 52

(2) 50.7

4) 527
(SSC Graduate L evel Tier-Il Exam. 16.09:2012)
Average age of 8§ men isincreased by 3 years when
two of them whose age are 30:and 34 years are
replaced by 2 persons. What is the average age‘of
the 2 persons?

g 30 N 34 od % § SAfFE F TWAW 2
T HAfHK Th T | A FL KL ST, T8
il & SH GHE 1 A9 e Y 3 aut
g B W Bl qEqER, $9 < AqQ SAfREl
afrea ey fehat 272

(1) 24 years /a8

(2) 32years/ad

(3) 44 years /ad

(4) 48 years/ad

(SSC CHSL DEO & LDC Exam. 28.10.2012 (Ist Sitting)
Average weight of 25 students of class is 50 kg.
If the weight of the class teacher is included, the
average is increased by 1 kg. The weight of the
teacher is

10.

11.

12.

TF el T 25 BEl H1 SAEA 9R 50 fwEW B
I ITH HeT o TAUFR T TR IMHA AT
o Se, @ o 9R ¥ ww el w1 g ©
ST €1 AEIHR S A i R fohae 872
(1) 76 kg /T
(2) 77 kg / T
(3) 74 kg /f&mm
(4) 75kg /R

(SSC Multi-Tasking Staff Exam. 17.03.2013. Ist Sitting)
The average weight of 40 children of a class is
36.2 kg. When three more children with weight

42.3 kg, 39.7 kg and kg join the class, the aver-
age weight of the 43 children in the class is

T el H 40 S=a 1 3 R 36.2 fRw R
deqER A< 3§ e&n § 42.3 fwwm, 39.7 TR
qem 39,5 foRn TR/ET 9 S= 3R o S,
43 At 1 $iEd R R 7 Sem?
(1):,:39.2 kg / T
(2) 36.5 kg /fwm
(3) 38.35 kg /TR
@) 37.3 kg Twm
(SSC Delhi Police S.I. (SI) Exam. 19.08.2012)
Theaverage age of 14 girls and their teacher's
ageis'15 years. If the teacher's age is excluded,
the average reduces by 1. What is the teacher's
age?
14 BEe 3R SR T fifersmt w6 ofiwa g
15 a9 21 A faferent 1 o1g w1 g fEan S,
dl oira ® 1 ad w5t e S ) e fafarn
FI G N 2?2
(1) 35year/dd (2) 32year/ad
(3) 30year/dd (4) 29 year/ad
(SSC CGL Prelim Exam. 27.02.2000 (Ist Sitting) &
SSC CGL Tier-I, Exam.24.04.2013)
The average of 9 integers is found to be 11.But
after the calculation, it was detected that, by mis-
take, the integer 23 was copied as 32, while cal-
culating the average. After the due correction is
made, the new average will be

9 quishi T SIEQ 11 7T &1 W T FH B
g IE @ T fR eraet M R w9
el 23 i 32 fa@n mn sfea geeE s
% 9% A1 SiEd F em?
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(1) 10 2) 9 16. The average of marks of 28 students in
(3) 10.1 4) 9.5 Mather}latic was '50; 8 students left th@ school,
then this average increased by 5. What is the av-
(SSC Constable (GD) Exam. 12'0.5 2013) erage of marks obtained by the students who left
13. A company produces an average of 4000 items the school ?
per month for the first 3 months. How much foremeft e Biet 5N W S sad 50 @
items, it must produce on an average per month g feremeft whet @I@‘ch‘{ - U 99 99 FnfiEr gh
over the next 9 months to average 4375 items o 3 3?@?[ 5 9 TN el BT I A
per month over the whole year? i &¥T Ifd forenfoRl g/ o iRt W ﬁga o 22
TE S oY AT @ ST e e 3 WENl (1) 50.5 (2) 375
T 4000 T TS 9 TEH | Wd I S A (3) 42.5 (4) 45
‘I'\OI')CI"IP\I ORQ'{V I a1t 11? —orsf 1}' aﬂaﬁ EARILI (SSC CGL Prelim Exam. 13.11.2005 (Second Sitting)
g sid 4375 =1 17. The average of 100 numbers is 44. The average
ofthese 100 numbers and 4 other new numbers
(1) 4500 (2) 4600 is 50. The average of the four new numbers will
(3) 4680 (4) 4710 be
(SSC CGL Prelim Exam. 04.07.1999 (First Sitting) 100 T@&sT &1 3Ea 44 ©1 1 100 TEmsh
14. The average weight of 20 students in a class is qT 4 = T TEmet wt faemst ofEd 50 &)
increased by 0.75m3f the students I R AR T et sied ar-
weighing 30 kg i A new student.
Weight of the new student (inkg) is : (1) 800 (2200
IS TH F& H 30 fhamm™ R &1 B, Tl (3) 176 %) 24
TﬂTQ a.:ﬁT QEF T BT T Gﬂ'q, Fﬁ Fegl _el 20 @Bﬁ A (SSC.C(}}IL Pr;}lrlanxam. 04.02.200'7 (Flr:;Slttln'g)
1 s s 075 w8 B . “Fhe average weight of 12 crewmen in a boat is
qEIER AT B w1 AR (et #), w7 increased by%kg. When one the crewmen
I whose weight is 55kg is replaced by a new man.
(1) 335 (2)7 40 What is the weight of that new man?
(3) 45 (598 THTE | 55 oF & TF FH & T W TH
(SS€ CF}LPreIim Exam. 27.02:2000 (Second Sittin.g) T T:Fl:ﬁ ?’ﬂef W 3IG A6 T:ﬁ 12 ah—ﬁ:izh ] Gﬁﬂﬁ
15. The average weight of three men A, B and.C is
84 kg. D joins them and the average weight.of IR lm T S TTGR G T FH FH
the four becomes 80 kg. If E whose weight is 3 3 ’
kg more than that of D,replaces Aj the-average R foram fmam 22
weight of B, C, D and E becomes*79 kg. The (1) 58kg/fwum. (2) 60 kg /fm.
weight of Ais (3) 57 kg /FE. (4) 59 kg /fwm.
i A A, B 2R CEI?'I ST S 84 o621 & D (SSC CHSLDEO & LDC Exam. 04.11.2012 Ist Sitting)
o Hftafer BH R ¥ = 1 e 980 . @ 19. The average age of four boysA, B, Cand D is 5

ST 21 4 ESEe R D& AR § 3 fRm st
% T, ATl Haenfyd ¢ <, @ B, C, D 3R E &
e R 79 fRIL 81 ST €1 AW 4R -

(1) 65kg/fwu. (2) 70 kg /o

(3) 75kg/fwu. (4) 80 kg / foFum.

(SSC CGL Prelim Exam. 11.05.2003 (Second Sitting)

years and the average age of A, B, D, E is 6
years. C is 8 years old. The age of E is (in years)
R WEHT A, B, Cqel D1 aired o 5 o €

3R A, B, Dden E®l siga o 6 od 81 579
C8ad &1 8, d Ewl g (i #) femat 272
(1) 12 2) 13
3) 14 4) 15

(SSC Multi-Tasking Staff Exam. 24.03.2013. Ist Sitting)
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20.

21.

22.

23.

24.

The average marks obtained by 40 students of a
class is 86. If the 5 highest marks are removed,
the average reduces by one mark. The average
marks of the top 5 students is

T HE % 40 BEI G W HhT H G 86 Bl
Ife 5 Feiitrer el I Feper fean s i
T 31 S B W 81 Y 5 oEl % S o
AR
(1) 92
3) 93

2) 96
4 97

(SSC CGL Tier-I Exam. 19.10.2014)
A student finds the average of 10, 2 — digit num-

bers. the average increases by 3.6. the difference
between the digits of the 2-digit numbers is

T B 2 3R] el 10 GEme & o Ed
frpter B1 A T G & Sl 1 TWER
Tt T wT o A 3.6 g Al €1 2 Sk
el Gl & SFwl & o9 ST T 2
(1) 4 2) 3
3) 2 4 5

(SSC CGL Tier-1 EXam. 19410.2014)
The average of 50 numbers is 38. If two num-

bers, namely 45 and 55 are discarded, theaver-
age of the remaining numbers is

50 Hemet w1 SiEa. 38 B A & e 45
AN 55 feprer &1 SMU, @ 99 GeAtedl 1 Sa
fora 22
(1) 37.5
(3) 36.5

(2). 37.9
4 37.0

(SSCCGL Tier-I Exam. 26.10.2014)
The average of six numbers is 20.4f oné number

is removed, the average becomes 15.'What is the
number removed?

6 G&S 1 SEd 20 Bl Al TH Hewm g &
ST A1 e 15 81 S 81 RiA-9 §eA g9
2?2

1) 5
(3) 112

(2) 35
(4) 45

(SSC CGL Tier-I Exam. 21.09.2014)
The average of 20 numbers is calculated as 35. It
is dicovered later. while calculating the average,
one number, namely 85, was read as 45. The Cor-
rect average is

25.

26.

27.

20 Gl F1 TG 35 B €1 9R H g qa
<ol € o ofid fepTerd 99 Tk G 85
Tl @ 45 UG T o Wel AEd @ e
(1) 36.5 2) 37
(3) 375 4) 36
(SSC CGL Tier-Il Exam. 2014 12.04.2015)
(kolkata Region) TF No. 789 Th 7)
The average age of 30 students of a class is 14
years 4 months. After admission of 5 new stu-
dents in the class the average becomes 13 years
9 months. The youngest one of the five students
is 9 years 11 months old. The average of the re-
maining 4 new students is

Tk el & 30 S w1 iEd g 14 99 4 9
21 35 ®en § 59U BEI & W@ OF B 9K
#Ed 13 7§ 9 HEE W T U A B §
T BE 9.9 11/HE T T I 4T B BT
afrea e fehat 22
(1)».11 years / 9% 2 months / 78
(2) 13 year 6 months /HIg
(3) 12 year /@9 4months/ A8
(4) 10 years 4 months/ HE

(SSC CG, Tier- Exam. 25.10.2015. TF No. 1099685)
The.average of some natural numbers is 15. If
301is added to first number and 5 is subtracted

from the last number the average becomes 17.5
then the number of natural number is

D URd SN #1 SiEa 15 81 Ak yeelt
Hem § 30 g faar sy SR s wem @ 5
=T T et Sfa 17.5 Tl 81 Wiehd Seet
1 giea fha 82
(1) 15 (2) 30
(3) 20 4 10
(SSC CAPFs SI, CISF ASI & Delhi Police ST
Exam. 21.06.2015 (Ist Sitting) TF No. 8037731)
Our of 10 teachers of a school, one teacher re-
tires and in place of him a new teacher 25 years
old joins, As a result of it average age of the
teachers reduces by 3 years. Age of the retired
teacher (in years) is:
T Whet o 10 s Seed 8 S € it SE
T | TH 0 25 96 ek T T8 T ol
1 uRoTEE feEht i Sl og 3 oY %A B

S €1 St s i ey fra (e #) €2
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(1) 55 (2) 60 3. Acricketer had a certain average of runs for his
(3) 58 4) 56 64 innings. In his 65th innings, he bowled out
(SSC CHSL (10 +2) LDC. DEO & PA/SA Exam. 15.11.2015 for no score on his part. This brings down his
(Ist Sitting) TF No. 6636838) average by 2 runs. His new average of runs is
28. The average marks obtained by a student in 6 & fopne faaEl =1 39& §W @l T 64
Subsequent verification it was found that the R & W H1 Bl Ed o SR 658 TR
marks obtained by him in a subject was wrongly T 39 Y@ F R W S HL A S 2
copied as 86 1nst§ad of 68..Th.e correct average o8 TR SiEd W e 2 W 9 8 S S
of'the marks obtained by him is T T = g 3
fepelt feremeft =i 6 foral o o gu oifd i 88 31”';30 2“?2'8
g 9’ A g kW I8 9 =l T (3) ” (4) o5
fowa # 9% ik I Tl | 68 % TH W 86 ) Q N
m_[ ﬁ?ﬂ T m U] m T H%"T . (SSC CGLPrellmExam.27.(')7.2008 (Sec?nd Sitting)
S 3 4.  Acricket batsman had a certain a certain aver-
age of runs for his 11 innings. In the 12th in-
(1 87 (2) 85 nings, he made a‘score of 90 runs and thereby
3) 84 (4) 86 his average of runs was decreased by 5. His av-
(Ssc(fs?sLiziifg'%‘;}ngl63~?98~62207195) erage of runs after 12th innings is:
' fordt forehe SeoiaTs &1L30% g Welt T 11
TYPE-VI TR o 3T hT RIS adiE) e 1 2a U § 3E
90 T7 =T qe 3G9 STR A 1 A 5 FH
1. The average of runs of a cricket player of 10 2 T IRES & 9% 39 ¢ 7 of9d
innings was 32. How many runsimust he make ;
in his next inning so as to increase his average of 1) 155 2) 150
mnsﬁby; ?ﬁ ; o " (3)(145 @) 140
hed T 10 i & o 1 (SSC CHSL DEO & Exam. 28.11.2010 (Ist Sitting) &
32 el Taenst omeft 9 ¥ fRad W@ &, (SSC CHSL DEO & LDC Exam. 11.12.2011 (IInd Sitting)
s ST T 1 A 4 S 8 S? 5. The batting average of a cricket player for 64
(1) 76 @) 70 innings is 62 runs. His highest score exceeds his
3) 4 @) 2 fowest score by 180. runs. Excluding these two

(SSC CGL Prelim Exam. 08.02.2004(First Sitting)

2. The bowling average of a cricketer was. 12:4-

He improves his bowling average by 0.2 points

when he takes 5 wickets for26 runs in his last

match. The number of wickets taken by him
before the last match was

T e faemel =1 Tigamst &1 & 12.4
ol W& g€ A fam B H 26 T 2@ 5
fame 2, @ S Vel & of|d o 0.2 ki
1 GHR 1 Sl 81 SAfad 7 9 Tee 36 g
fou o fgsel &t 9@ -
(1) 125 ) 150
(3) 175 4) 200

(SSC CGL Prelim Exam. 27.07.2008 (First Sitting)

innings, the average of remaining innings be-
comes 60 runs. His highest score was

T e % Taere! &1 64 3T #1 siEa 62
W 2| SHHT AfUshad ThR, ITH TATH TR
T 180 T ST 71 S I 3T STH! 9w A
1 SEd 60 T Ml 2| S8R 39 faene! &
aAfershad @hR fopet 212

(1) 180 runs/¥d

(2) 209 runs/

(3) 212runs/ W

(4) 214 runs /A
(SSC CHSLDEO & LDC Exam. 11.12.2011

(Ist Sitting) (East Zone)
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6.

The batting average for 40 innings of a cricket
player is 50 runs. His highest score exceeds his
lowest his lowest score by 172 runs. If these two
innings are excluded, the average of the remain-
ing 38 innings is 48 runs. The highest score of
the player is
fordt fopare &1 40 TRl & fou sectamstt &1
3 50 W 21 IHB SAfURdH o ITh AT
9 172 fuss €1 Ak = @ uREl W
forepter fean s, o 9w 38 WAl w1 aftEa 48
2 faaret & stfuerad @ B-
(1) 165runs/T(2) 170 runs/
3) 172runs/ ¥ (4) 174 runs /T

(SSC CHSL DEO & LDC Exam. 04.12.2011

(Ist Sitting (North Zone)

Saching Tendulkar has a certain average for 11
innings. In the 12th innings he score 120 runs and

thereby increases his average by 5 runs. His new
average is

e dgerent &1 11 TIRE 1 Tk ffvea sfag
B ST oot 12a Ut § 120 W SR I
AT H 5 H g H L T AETER) ST
1 SiEa fepa @2
(1) 60 (2) 62
(3) 65 (4) 66

(SSC Graduate Level Tier-ILExam. 29.09.2013)
The batting average for 30 inings of a cricket
player is 40 runs. His highest score exceeds his
lowest score by 100 runs. If these two innings are
not included, the average of the remaining 28 in+
nings is 38 runs. The lowest score of the player is

T forene faeel 1 30 9IEl 1 Siga 40 H
B STHT ferHaH WhIT, =JAaH TR 100 T
SR B AR S <Al WIiEl i wifger 7 e
ST, o W 28 WAl w1 ofEd 38 T T R
IO, U Taeel &1 =FaH @hi fohel 82
(1) 15 (2) 18
(3) 20 @ 12

(SSC CAPFs SI & ASI Exam. 23.06.2013)
A batsman makes a score of 87 runs in the 17th

innings and thus increased his average by 3. Find
his average after 17the innings.

T oS 178 9 § 87 W 99 © =9
b IEhT A 3 T &g el ¢l 17e 9 &
AR ITHT i T Fifsu

(1) 39
(3) 90

(2) 87
(4) 84
SSC Constable (GD) Exam. 04.10.2015. Ist Sitting)

TYPE-VII

The average age of 8 men is increased by 2 years
when two of them whose age are 21 and 23 years
replaced by two new men. The average age of the
two new men is

8 &S ! SEd o 2 9 Wg Sl § 4G I
Y < geul w, TSt o 219 2399 ®, &
T R T Y& i foran S € 99 qH @
TEu w1 e g R
(1)(22 years /a9(2) 24 years / TH
(3) 28 years /a9 (4) 30 years/Td

(SSC CGL Prelim Exam. 24.02.2002 (Second Sitting)
The average age of 11 players of a cricket team
isiincreased by 2 monthswhen two them aged

18 years and 20 years arereplaced by two new
players. The average age of the new players is

fepelt fomene S0 @ 11 faenfeal =1 oiiwa oy
2HEH 9g S € 9 S H ¥ % fawrted,
SRl 318 o 3R 20 oW €, % TH WA
T feerfeat #1 o foran wmn 2

T foaeifed =t siaa oy B-

(1) 19years/ad 1 month /FEH

(2), 19 years / % 6 months / T&H

(3) 19 years/a% 11 months /W&

(4) 19 years/d% 5 months/TEH

(SSC CGL Exam. 13.11.2011 (Ist Sitting) &

SSC CGL Tier-I Exam. 26.06.2011 (1Ind Sitting)

The present average age of a family of four mem-

bers is 36 years. If the present age of the young-

est member of the family be 12 years, the aver-

age age of the family at the birth of the youngest
member was

IR GE el Tk UER shi SdH Sl 31 36
o 81 9 IR & T wH g Tt G H
A Y 1299 B, & T FH I At 5
T & 5 % G99 RER H1 SAdd g ofi-
(1) 48years/au(2) 40 years/dd
(3) 32years/ad(4) 24 years/dH

(SSC CGL Prelim Exam. 27.07.2008 (First Sitting)
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4. The average age of 40 students of a class is 18 5@l & T UREN W 39 G A 3T 33

years. When 20 new students are admitted to the
same class, the average age of the students of
the class is increased by 6 months. The average
age of newly admitted student is

feranfelal wmen & 40 foenfiai 1 oiea eg 18
a9 21 20 U fanfdai % U wan o wew o
% I, hel o TRt w1 oiwd omg ® 6
e # gfg o S T AW wEe R
Tl #1 eiea oy 22
(1) 19 years /9§
(2) 19 years/ad 6 months / A&
(3) 20 years/ad
(4) 20 years/ad 6 months /A&

(SSC CGL Prelim Exam. 27.07.2008 (Second Sitting)
The average age of 40 students of a class is 15
years. When 10 new students are admitted, the

average is increased by 0.2 year. The average age
of new students is :

forelt wmen & 40 foranfefai =1 ofwa gl s o
21 1073 foenfefal & g9 w6 & SWq e
I H 0.2°% wi gig & i 2l 79, forenfea
1 e g B-
(1) 15.2 years /¥
(2) 16 years/ad
(3) 16.2 years /&% (4) 16.4 years/ad

(8SC CPO S.I. Exam. 26/05.2005 & 09.11.2008)
The average age of ahusband and his wife was
23 years at the beginning of their marriage. Af-
ter five years they have a one-year old.¢hild. The

average age of the family of three, when the child
was born, was

T Ul SR TS w3 g S feee %
T 23 99 offl " 9y 9% 3h, Tk 9
o1 Tl 59 w99 S=d 1 S geT 39 9
A e % qRaR w1 el oy fRat of?
(1) 23 years/aH(2) 24 years/dd
(3) 18years/a®(4) 20 years/dd

(SSC Constable (GD) Exam. 12.05.2013 Ist Sitting)
In a family of 5 members, the average at present

is 33 years. The youngest member is 9 years old.
The average age of the family just before the

birth of the youngest member was

a9 ¢ a9 B WS 9 o 1 Bl W B
@ & 5 ¥ qohel 7d IRaR 1 i ey
-
(1) 30years/ad(2) 29 years/dd
(3) 25years/au(4) 24 years/dd

(SSC CL Tier-1 Exam. 19.05.2013 Ist Sitting)
A man had 7 children. When their average age

was 12 years, a child aged 6 years died. The aver
age of remaining Six children is

T EH & 9 S 9| S S S oy
1299 off, 6 96 i 3T aTel T Foal 7 T4
39 BE ool B A AT B-
(1)413 years /a9 (2) 10 years / ad
(3) 1lyears/ ¥ (4) 14 years/dH

(SSCEGL TierT Re-Exam. (2013)20.07.2014 (Ist Sitting)
The average age of a husband and his wife was
23years at the time of their marriage. After five

years they have a one year old child. The aver-
age of the family now is

T Ul - Tl Y elga g S foeE &
T 23 g9 AN T & IR IAHT Uk a9 I
T o URER W1 e g feRat @2
(1) 29.3 years / a8
(2) 19.years/ad
(3). 23 years/ad
(4) 28.5 years / ¥

(SSC Constable (GD) Exam. 04.10.2015. (IInd Sitting)

TYPE-VIII
The average age of 12 players of a team is 25
years. If the captain's age included, the average
age increases by 1 year. The age of the captain is

ot S & 12 faenfeal &1 e o 25 o
21 9w ®1 g o wiHfe WY el s
ST e 3 1 oY 9g Wt 21 e
Mg -
(1) 25years/ad(2) 38 years/dd
(3) 36years/au(4) 26 years/dH

(SSC CGL Prelim Exam. 04.07.1999 (Second Sitting)
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2. Afterreplacing an old member by anew mem- 5. From a class of 24 boys, a boy, aged 10 years,

ber. it was found that the average age of five
members of a club is the same as it was 3 years
ago. The difference between the ages of the re-
placed and the new members is

TH TS & WM W G5 & 3H & 915
@ T TR o & U eE ) sied ey
At & W At 3 99 geet offl gern T "
aﬁwﬁwaﬁmaﬁm|
(1) 2years/dd (2)

(2) 4 years/ ¥

(3) 8years/dd (2)

(4) 15 years /9§

(SSC CGL Tier- Exam. 21.09.2014)
Average age of 6 sons of a family is 8 years.
Average age of sons together with their parents
is 22 years. If the father is older than the mother
by 8 years, the age of mother (in years) is :
ot oftaR & 6 I w1 e eng 8 o 81 ol
3R ST T Toar b1 fHetrert Skt 3fi#a g
2298 B Afg e A 9 8 & agir®, ot A

1 g (ad H) ©-
(1) 44 2) 52
(3) 60 4) 68

(SSC CGL Peélim Exam. 11.05.2003 (First Sitting)
The average age of 30 boysin a classis 15 years.
One boy, aged20. years, left the class, but two
new boys came in his place whose'age differ by
5 years. If the average age of all the boys now'in
the class becomes 15.years, the age of the
younger newcomer is :

forelt shen & 30 Wi i AHT g 159 B
T oS, ToEH g 20 99§, 7 Ha Big
IS M W T AR AgH Hel HHUQ Rt
A W 5o * IR | AR FeN & Gl el
1 SEa o o/ o 1599 Tt €, o T S
T e F Y B A A
(1) 20years/a®(2) 15 years/dd
(3) 10years/aH(4) 8years/ad

(SSC CGL Prelim Exam. 24.02.2002 (Fist Sitting)

leaves the class and in his place a new boy is ad-
mitted. As aresult, the average age of the class is
increased by 2 months. What is the age of the new
boy?
24 ASHI HI UH FHeM | ¥ 1099 Y el Th
ST Hell BISHT wel Wl & AU I T
R UF T AdSh Fl wel § Jae fFan s
2| TRUTH Y wel i a2 HiE 5%
ST 1T SifEd B9 o1 AEgd i g -
(1) 12years/ad(2) 15 years/dd
(3) 14 yeras/ad(4) 13 yeras/dd

(SSC CGL Prelim Exam. 04.02.2007 (Second Sitting)
Fivesyears ago, the average ago of P, Q and R
was 25 years and seven years ago, the average

age of Qand R was 20 years. The present age
of Pis

5o w8l 0, Qe R &1 8lwa 31 25 off &
A & 95 Q Al Rt i 21 20 = &t P
1 TEH 3T B
(1) 36years/£a9(2). 29years/aH
(3) 24 yearsy.a@d(4) 21 years/dd

(SSC Data Entry Operator Exam. 31.08.2008)
The average age of eleven cricket players is 20
years. If the age of the coach is also included,

the average age increases by 10% . The age of
the coach is

forshe & 11 faenieal #1 ofima g 20 o 2|
I 37k et w1 o1y oft Sftmfera T ¢ S
ql, e 3 10%. 9 St 21 ek @t o1
T
(1) 48years/au(2) 44 years/dd
(3) 40years/au(4) 36 years/dd

(SSC Data Entry Operator Exam. 02.08.2009)
The average age of a husband and a wife was 27
years when they married 4 years ago. The aver-
age age of the husband, the wife and a new-born

child is 21 years now. The present age of the child
is

T dfd a1 9cft HT 496 qE ITHRI IET B
g 3fd o 27 9 et e ufd, welt qen
T U U1 B ATl o &1 Sed oy 21 o
2| T=9 ® TGHA Y ©-
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10.

11.

(1) 4 years/ 3
(2) 3years/dH
(3) 2years/ ¥
(4) 1years/ ¥

(SSC Data Entry Operator Exam. 02.08.2009)
The average age of husband and wife, who were
married 4 years ago, was 25 years at the time of
their marriage. The average age of the family con-
sisting of husband, wife and a child, born during

the interval is 20 years today. The age of the child
is

e i SR T, fE 43 T v g o,
F W GEA Sl g 25 99 el eT
afem, o i, eht den e #1 ot § U
T el Tk S Wi €, i S g
2099 B w8 HI g ©-
(1) 1years/dH
(2) 2years/dH
(3) 2.5 years/dH
(4) 3 years/¥H

(SSC CHSLDEO & LDC Exam. 28.112010 (IIndSitting)
The average age of 45 persons‘is decreased by

o vears when one of the 60 years is replaced by

anew comer. Thenthe age of new comer is:

45@%@%&@%@@@3@%

9 60 T & Teh Afekd 1 TIH i T AR
o o 2l

W@'ﬁﬁﬁlﬁm%:

(1) 45 years/ad

(2) 55years/ad

(3) 59 years/ad

(4) 49 years/ad
(SSC CHSL DEO & LDC Exam. 11.12.2011)
(IInd Sitting (Delhi Zone)
The average age of A and B is 20 years. [f Ais to
be replaced by C, the average would be 19 years.
The average age of C and A is 21 years. The
ages of A, B and C in order (in years) are

12.

13.

14.

AT BT 3fi|a o1 2099 21 4 Al C 9
I e S, @ ofea 19 9d e S sed
Cdd A 3iEd &g 21 99 1 T&qER, A, B
el C ol g (T o) HA: fohat grn?
(1) 18,22,20
(2) 18,20,22
(3) 22,18,20
(4) 22,20,18

(SSC CHSLDEO & LDC Exam. 10.11.2013. Tind Sitting)
The average age of P, Q and R is 5 years more than
R's age. If the total ages of P and Q together is 39
years, then R's age is

P,Q 3R R 3id Mg R &g § 5o afy
% 2l 7 P IR Q1 o1y fireteht 39 €, @ R
&1 &g feret 82
(1) 12years/aN(2) 24 years/dd
(3) 16years/ad(4) l4.years/ad

(SSC CHSEDEO Exam)16.11.2014) (Ist Sitting)
Three years ago, theaverage age of family of 5

members m} baby having been born,
the avera, mily is the same today.
The presént age.of the baby (in year/s) is

3 ad, ST & % URER FI e g
1798 offl TF o= & U EH ¥ o 9fER
€t T SwE 1 G T ® :

1
2) 15
4 3
(SSC CHSL (10+2) DEO & LDC Exam. 16.11.2014)
Ist Sitting TF No. 333 LO 2)
The average of mother and her six children is 12
years, which is reduced by 5 years if the age of
the mother is excluded. The age of the mother (in
years) is :
T IR IqF 6 5=Al HI Ed 31g 1299 7 S
Al H S H WEA T FA W 5T FHH @
St g1 A T ey femat (ot #) ®?
(1) 50 (2) 40
(3) 48 4) 42
(SSC CHSL (10+2) LDC, DEP & PA/SA Exam. 06.12.2015
(Ist Sitting) TF No. 1375232)

()1
3) 2
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15. Three years ago, the average age of a family of
5 members was 17 years. having been born the
average of the family is the same today. The
present age of the baby (in years) is

A o T, 5 TEEl G T IRER i sfea
3 1799 offl Tk F=d &1 FH F & a5 o
30 URER &1 iEd g gEE g W= W
TAHH A (T H 2

1 2 2) 2.4
(3) 3 4) 1.5

(SSC CAPFs SI. CISF ASI & Delhi Police SI Exam. 22.06.2014)
TYPE-IX

1. Inaschool, the average age of students is 6 years,
and the average age of 12 teachers is 40 years.
If average age of the combined group of all the
teachers and students is 7 years. then the num-
ber of students is-

w famem & foaenfe @1 ofwd o 69 €,
R 12 forershl &1 e omg 40 = B afs @
forerent qen faenfefai & Twqol wqe =i, siEq
3 799 7, A A faenfr &t gen fohat
27
(1) 396 (2) 400
(3) 408 4) 416
(SSC CGL Prélim Exam. 13.11.2005 (First Sitting)
2. Syears ago, the ayerage age of P and Q was 15

years. Average<age of P, Q and R today is 20
years. How old will R be after 10.years?

o e Ugel P qen Q& AiEa eng 15 7 off|
3 P, QU R 37 &g 20 919 1 qeqan,
10 9t a1g R 1 g fehat &1 Swait?
(1) 35years/ad
(2) 40 years /9§
(3) 30 years/ad
(4) 50 years /9§
(SSC GL Tier-I Exam. 11.11.2012. Ist Sitting)
3. Theaverage age of a cricket team of 11 players
is the same as it was 3 years back because 3 of
the players whose current average age of 33 years

were replaced by 3 youngsters. The average of
the newcomers is

11 faenteat &t frme 3w *1 afiwa g Sat
2 foat 3 o geet oft =ifen 5 3 faereal w1

TAA SEd g 33 ¥ © S T W 3
Farsti 1 SNhe fRan e o U faenfeat &t
afrea ey fehat 22
(1) 23 years/ad
(2) 21 years/ad
(3) 22 years/ad
(4) 20 years/ad
(SSC CGL Tier-I Re. Exam. (2013)20.07.2014 (IInd Sitting)

The frequency distribution data is given below.
If the average age is 17 years. the value of m is

J= e famor g @ e 21 Ak ol
AP 1799 € m® AE FA B2

Age (in years) / 3T (T #) :820 2629 Num-
ber©f people / T T T : 32 m 1

()1 2 2

3) 3 4) 4
(SSE'EGL Tier-1l Exam. 21.09.2014)

TYPE-X

The average monthly income’of A and B is ¥
14000, that of Band Cis ¥ 15600 and Aand C
is'T 14400.The monthly income of C is

A ¥R Bt 3hga Wi @g % 14,0008, B
IR @Rt S Hfw 3™ ¥ 15,600 72 C
IR AF AHd HEF A= T 14,400 B1 C i
e & -

(1), ¥ 16000  (2) ¥ 15000

(3) T 14000  (4) ¥ 15500

(SSC CGL Prelim Exam. 24.02.2002 (Middle Zone)
The average per day income of A, Band C is ¥
450. If the average per day income of A and B be
¥ 400 and that of B and C be ¥ 430, the per day
income of Bis

A, BTN C 1 3fd 3fth o % 450 71 A
AT B iea 3 1@ ¥ 400 TF B @
C ! 3frad fs o T 4308, @ B 3ffw
3 BAT-
(1) ¥ 300 2) %310
(3) T 415 (4) T 425

(SSC Data Entry Operator Exam. 31.08.2008)
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3.

5 members of a team are weighed consecutively 6.

and their average weight calculated after each
member is weighed. If the average weight in-
creases by one kg each time. how much heavier
is the last player than the first one?

T 3M & 5 TS % AR hi HHLER AT T
3R 37 SHd WX &1 TUMAT, GoAH GEE W
IR % o= H T qGIER, AR & 9R, 3fHa
qr A 1 fem &t gfg & e, @ eifem faere
1 WX, Tec Taerel 9 foha samr ©2

(1) 4kg/fwm

(2) 20 kg / femm

(3) $ke/fEm

(4) 5kg/fwm

(SSC Graduate Level Tier-Il Exam. 16.09.2012)

1
If the average of x and ;(X #0) is M, then the
average of x? and el is:
1
R xqe —(x#0) %1 STEd M@, @ X2 e

%aﬂaﬂﬁwﬁmmm?

(1) 1-M? 2) 1-2M
() 2M2—1 £ (4) 2M2+ 1
(SSC CHSLDEO & LDC Exam. 11.12.2011
(IInd Sitting (East Zone)

The average expenditure of a'man for the first
five months is ¥ 1200"and for the next seven

months is ¥ 130( E2900-in that
year, his m§nthlytmL 18

T safed 1 Jgel Urd HEMl &l SiEd e
1200 9T 2 3T 3T Gid el %1 SirEd
@€ 1300 ®IC B1 4f€ 98 3@ a9 § 2900
TG KT O B © Al SEHT HITEHH S
o fRat 82

(1) 1500  (2) T 1600

(3) T1700  (4) T 1400
(SSC CHSL (10+2) LDC. DEO & PA/SAExam. 15.11.2015

(IInd Sitting) TF No. 7203752)

The average weight of 15 oarsmen in a boat is
increased by 1.6 kg when one of the crew, who
weighs 42 kg is replaced by a new man. Find
the weight of the new man (in kg).

T FbT H 15 TR F1 A a9 3H g
1.6 fopT1. &g STl € o S 9 42 TR, o
o W ek o T TR T At ol 2
U =fe w1 ge (o #) 3@ &
(1) 67 (2) 65
(3) 66 (4) 43
(SSC CGL Tier-I Exam. 09.08.2015
(Ist Sitting) TF No. 1443088)
A librarian purchased 50 story-books for his li-
brary But he saw that he could get 14 more books
by spending Rs. 76 more and the average price
perbook would be reduced by Re. 1. The aver-
age price (in Rs.) of each book he bought, was:

T gslfad 5870 Tk & fore et &t
50. g @it fohg 354 <@ T 76 9 AR
TE & W SH 14 T SR et wendt off
AR 9fa T Afga wEg 1 ®IC H9 8
ST 3ITh. N @Rl T’ TE JEE R
oA HiEd (¥ o) F eft?

(1) A5 2) 10

@) 25 4 20
(SSC CGL Tier- Exam. 16.08.2015
(Iind Sitting) TF No. 2176783)
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Answer Key
TYPE-I
I. 3 2. 23 24 35 2 TYPE-VI
6. 2 7. 2 8 (2 9. (1) 10. (1) I. (I) 2. 33 (24 (35 &
1. 2) 12.(1) 13. (2) 14. (3) 15. (3) 6. 4 7. 3 8 (2 9. (1)
16. (2) 17.(2) 18. (3) 19. (3) 20. (2)
21. (4) 22.(2) 23. 3) 24. 4) 25. (2 TYPE-VII
26. (3) 27.(3) 28 (2) I. 4 2. 33 3 4 25 @
3) 7. (1) 8 (1) 9. (2
TYPE-II
I. 3 2. 43 34 3 S5S @ TYPE-VIIIL
@2 7. 3 8 (1) 9 3 10. (3) . 2)2. 4 3 3 4 25 3
11. (1) 12.(1) 13. (3) 6. (1) 7. 2 8 4 9. (2) 10. (2)
11. (3) 12.(1) 13. (3) 14. (4) 15. (1)
TYPE-III
. 22 2)3. 4 4 2 5 @ TYPE-IX
.M 7. % 8 39 @) 10. 2 . (I)2. 3 3. 3 4. (1)
11. 2) 12.(2) 13. (1)
TYPE-X
TYPE-IV .. ()»2. (2) 3. 3)4.,(3) 5 (1)
. 2. ®3 24 @S5 3 6. 37 (2
4 7. (1) 8. 4
TYPE-V

. 3) 2 3)3 3 4 15 @
6. () 7. 2) 8. (3) 9.4(1) 0. (2)
11. (@) 12.(1) 13. (1)A4. 3) 15.:03)
16. (2) 17.(2) 18. 4) 195 (1) 20. (3)
21. (1) 22.(1) 23{(4) 24. 2) 25, (4)
26. (4) 27.(1).28 (2)
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